18. [Statistics / Probability]

Skill 18.1 Interpreting picture graphs using one-to-one correspondence.

* Find the value of each picture by checking the key or scale.
*  Count the number of pictures in the row or column as asked by the question.

Each éy = 1 year

The scale is 1 picture = 1 year

Q. How many years does an A 4
engineering degree take?

Years for degree

w | SN =

Medicine

Medicine % % W % % Sence
Science % % ﬁ —| Engineering | ¢
Engineering % % %ﬁ There are 4 pictures in the

engineering row.
Fach W = 1 year 4 pictures = 4 years

a) How many eyes does a bee have? b) How many main islands make up
New Zealand?

Number of Eyes Countries - Number of main islands
e  ©OOO©O®® £
=0 =0
iy | @ @ 2| 2| 2| @
= = == =
WCISp ° ° 0 ° 0 Australia Ze'\;?a‘:\;d Japan Samoa
Key:o =1 eyes ( Each <) =1island )
c) Which sport has a goal worth d) Which flower has 3 petals?
6 points? ( )
P v Flower Petals | Key: [/ = 1 petal
v _1za | Valueofagoal v § - <
=1 goa v w
v v o 9 9
v v v W w o
v v v v v 4 o o W
Rughby Field Soccer Rughy Australian W W W W
Union Hockey League Rules w w w w
(place (place Football
kick) kick) \ Iris Daffodil | Rose Buttercue
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Skill 18.2 Recognising tally marks.

e Count or draw one dash for one value. O =1 !
* Draw four dashes and a crossways dash to represent 5. 0 =2
Counting by 5s helps. N =3
-4
W =5
Q. Use tally marks (|) to show the AT LM I
number 12,
a) What number is shown by the tally b) What number is shown by the tally
marks? marks?
m 4 T
c) What number is shown by the tally d) What number is shown by the tally
marks? marks?
e) What number is shown by the tally f) What number is shown by the tally
marks? marks?
g) Use tally marks (|) to show the h) Use tally marks (|) to show the

k)

number 3.

Use tally marks () to show the
number 7.

Number

7

Tally

What number is shown by the tally
marks?

Tally Number

i

numbper 11.

Use tally marks (|) to show the
number 12.

Number

12

Tally

What number is shown by the tally
marks?

Tally Number

AT T 1
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Skill 18.3

Count the tally marks and write the number.
Draw tally marks for the given number.

Interpreting and completing tables with tally marks (1). :

Q. Complete the tally table.

Lighthouse Survey

States Tally Number
Connecticut| M1 5
New Jersey | T IHT ]

Delaware 4
Washington| IHT ||

A. Lighthouse Survey
States Tally Number
Connecticut | M 5
New Jersey | HT KT 111 14
Delaware 1 4
Washington | HT || 7

Count the number of tally marks for
New Jersey and Washington. Write
their totals in the number column.

Draw 4 tally marks for Delaware.

a) Complete the tally table.

Vehicle Type Passing School

Vehicle Tally | Number
Sedan T 9
Station Wagon | IHT | 6
Minivan 1 3
Convertible T 5
c) Complete the tally table.
Drive - a - thon
Driver Lap Tally | Number
F. Alonso i
G. Fisichella | W1 M1 | 11
A. Suzuki LHT T
M. Schumacher | T |

e) Complete the tally table.

Books in a series

b) Complete the tally table.

People per square kilometre

Country Tally Number

Norway | M1 U1 1

Bolivia | IHT |l 7
PNG W 10
Iceland | 11|

d) Complete the tally table.

Frequency of 2, 3, 4, 5 as factors of
the numbers 1 to 10

Factor Tally Number
2 M
3 3
4 2
5 [

f) Complete the tally table.

Eyelets in shoes

Series Tally | Number Shoe Type Tally Number
Underland Chronicles | JHT Runner | M1 KT (1]
Deltora Quest | M1 || 8 Boat shoe 4
Mary Poppins | IHT I School shoe 8
The Bliss Bakery | |l Men's dress shoe | M1 LHT
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Skill 18.3

g) Complete the tally table for the

days of rain in May 2012

Canberra - 4, Perth - 9,
Brisbane - 8, Adelaide - 13
Days of rain in May 2012
City Tally
Canberra | [l
Perth 9

Brisbane
Adelaide

Number

Complete the tally table. How
many goals were kicked in the
2011 AFL grandfinal?

Total goals in the 2011 AFL grandfinal

Quarter Tally Number
1st T
2nd 9
3rd 8
4th il

k) Complete the tally table. How

many vowels are in this word
from Mary Poppins?

‘Supercalifragilisticexpialidocious’

Vowel Tally Number
a 1 3
e
i
0
u

Interpreting and completing tables with tally marks (2). 1]

h) Complete the tally table for the

i

1)

average sunlight hours per day in
Paris.

January - 2, April - 6,

July - 8, October - 4

Average sunlight hours per day in Paris

Month Tally Number
January I 2
April
July
October

Complete the tally table. How
many vowels are in
Shakespeare’s longest word?

‘Honorificabilitudinitatibus’

Vowel Tally Number
a I 2
i
0
u

Complete the tally table. How
many tiles in a Scrabble set are
vowels?
ATAAIUATAOIATAOUIAAE
EOEUEEEIOOEEEOQOEEEIIO
Ou

Scrabble tiles| Tally | Number
A JHT 1111 9
E
I
O
U
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SKill 18.4 Interpreting bar graphs (1). EE
* Find the value of each line space by checking the scale on the side of the graph.
OR
e Compare the height (or length) of each bar.
Q. Which country has the shortest A. Vieftnam
men? — 200 HEIGHT OF MEN
—~ 200 HEIGHT OF MEN 5T —
£ £ 150 |-l Na
L i
£ 150f---g PN a9 TV * 100) - agyl N
-:?_:) 5OF-----Ma---- - el
100---Xf¢ 1 WY1\ ] /
0 (PO "/ O AP,
7o) WY | | N NN ) | ISR IR | | B Australia  Vietnam Netherlands
vle, o A8 Compare the height of each man.
Australia  Vietnam Netherlands The shortest man is in the ‘Vietnam’
column.
a) How many engines does a b) Which animal has 8 senses?
Fokker FX11 have? 3 Number of senses
. - Aeroplanes aW 2
g5 g
54 = ——— i 5
3, b= 5
hat - =
22 S
E =
=! ]
R @ AN N
,\\\‘@Q‘ > 3 &Q,\“* v\“@b‘ Human Shark Snake
3
c) For how long should a mouse d) For how long was World War II?

live?

How long should pets live?

= 10
§ 9
= 8
c% 7
o 6
= 5
2 3
< 2 .
0
Hamster Guinea Mouse Rabbit Turte  Gold
Pig Fish
years

World Events

= 10
§ 9
= 8
£ 7
S 6
=
=2 5
g 4
3l
).
1l
0
American  World Great World  Korean Iraq
CivilWar ~ War| Depression War Il War War
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Skill 18.4 Interpreting bar graphs (2).

e) How many states does Australia

have?

States

Territories

Number

g) What (s the height of the
Rainbow Lorikeet?

Australian Parrots

Australian Budgerigar Rainbow  Crimson

King-parrot

Lorikeet  Rosella

cm

i)  Which country has the tallest

HEIGHT OF WOMEN

Australia

Vietnam Netherlands

f)

h)

)

%

Which coin is the heaviest?

Weight (g)

OFrRrMNDWMNUITOYN 00O

Weight of some Australia’s coins

10 reeeere e

Which country has the shortest
women?

Height (cm)

100}---

N
o
(@]

150}---

50}---

HEIGHT OF WOMEN

USA Japan France

How high (s the River Red Gum?

£ 50
= 45
S 40
T 35
30
25
20
15
10
5
0

Height of Eucalypts

- @

,,,,,,,,,, % L
{

Jarrah River Mallee  Coolabah
Red Gum

metres
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Skill 18.5 Recognising the likelihood of an event as likely, unlikely, B

certain, uncertain, possible, impossible (1).

Q. What is the chance ...

"A tourist will visit Alaska

tomorrow.”

A) possible
B) impossible

A A

Alaska is a possible tourist destination.
Alaska is not an impossible place to

visit.

a) What is the chance ...

"Some of your classmates will get

jobs in computers.”

b) What is the chance ...

was March.”

"If this month is April last month

A)
B)

c) What is the chance ...

likely
unlikely

A

A) certain
B) uncertain

What is the chance ..

“The nectarine is sweeter than the

peach.”

A) certain
B) uncertain

What is the chance ...

"You go to hospital at least once
in your life.”

A) likely
B) unlikely

"A volcano will erupt at
Ayers Rock tomorrow.”

A) possible
B) impossible

What is the chance ..

"Raj, who is 11, will be 8 next
pirthday.”

A) possible
B) (mpossible

g) What is the chance ...

"Supermarkets will give away free

groceries tomorrow.”

h) What is the chance ...

A) certain

"The cat is faster than the dog.”

A)
B)

likely
unlikely

B) uncertain
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Skill 18.5 Recognising the likelihood of an event as likely, unlikely, B
certain, uncertain, possible, impossible (2).

i) What is the chance ... i) Whatisthe chance ...
"Easter Sunday will fall on a "One classmate will come to
Tuesday.” school by car tomorrow.”
A) possible A) certain
B) (mpossible B) uncertain

k) White and red marbles are in a I) There are 8 white marbles and
powl. You choose a marble 11 green marbles in a bag. What
without looking. How likely is it (s the chance that the first marble
that you will pick a white one? drawn from the bag will be black?
A) certain A) certain
B) unlikely B) unlikely
C) likely C) likely
D) impossible D) impossible

m) There are 3 white marbles and n) There are 4 white marbles and
13 red marbles in a bag. What / red marbles in a bag. What is
(s the chance that the first marble the chance that the first marble
drawn from the bag will be white? drawn from the bag will be either
B) unlikely A) certain
C) likely B) unlikely
D) impossible C) likely

D) impossible

o) White and red marbles are in a p) White marbles are in a bowl. You

powl. You choose a marble choose a marble without looking.
without looking. How likely (s it How likely s it that you will pick a
that you will pick a red one? red one?

A) certain A) certain

B) unlikely B) unlikely

C) likely C) likely

D) impossible D) impossible
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Skill 18.6

Interpreting picture graphs where one picture represents many gﬂ
data values (1).

* Find the value of each picture by checking the key or scale.
*  Multiply the number of pictures by the key value. OR Count by that number.

Q. How many strings does an A6 |y ] - 2 strings
electric guitar have?

Instruments: number of strings

The key is 1 picture =2 strings

DD D — ==z D DD
electric guitar ~Tount by 2
electric guitar % ) \_ 246
cello .
:ﬁﬁ%' b b There are 3 pictures in the
electric guitar row.
. 2x3=6
Key: = 2 strings
y D J 3 pictures = 6 strings
a) How many strings does a b) Which flower has 4 petals?
mandolin have? Flower Petals
4
Instruments: number of strings g E g
-8 ) v | w|o|w
. \,/% / b b Agapanthus| Hyacinth Poppy [Delphinium
violin Key: [J/= 2 petals
N J
Key: J\ = 2 strings 8

c) How long does it take to digest an  d) How many hours does it take to

orange?

i 2
Digestion time drive from Melbourne to Sydney"

Vs

X
X

A X Drive Time

X X X Melbourne - Sydney
X | X | X

Melbourne - Echuca

orange | peach | potato | Q|

co

J

Vs

each X= 1 hour each g = % hour

) Melbourne - Mildura

4 =3 hours

hours
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Skill 18.6 Interpreting picture graphs where one picture represents many EF

data values (2).

e) Which newborn weighs 6 kg?
Weight of a newborn

Vs

Human Sheep Harp Seal | Jersey Calf
J

g) In which year were 8 legends
stamps issued?

Australian Legends stamp issues

2012 | [

oM |

200 | 0 T
2009 | |

each | | = 4stamps

i)  Which city is a one and a half
hour flight from Sydney?
Flight time: From Sydney to...

e E R
Melbourne | .
Adelaide

Welington (NI)

=R NN

each .4

f)

How much does the book cost?
Cost of items

$
$
$ $
$ $
$ $
R
zEach $ =5do|lars} dollars

h)y Which location has 11 daylight

)]

hours in December?
Daylight hours in December - (average)
England (7770

v, Ve, v, Ve, VY, \

Thailand :@::@: ©: ©: ;0= 3¢
Australia ;@ ;@ @) ;97 107 J©) ;97 €
Equator 55 195 8% 76 165 10¢

each ;07 =2hours |each:¢ =1hour

How many more teams in the AFL
than the A-League?

Players on the field

YIEEEE.

TATAR
AFLiE
“1\= 2 teams z = 2 teams
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Skill 18.7 Comparing the chance of two events.

e  Count the number of chances for the first event.
¢ Count the number of chances for the second event.
e Compare the number of chances of each event.

Q. Two jars contain chocolates. A. B
A chocolate is chosen from each
jar without looking. From which
jar does a dark chocolate have
no chance of being chosen?

Event 1:
Jar A contains 4 dark chocolates
=> 4 chances

Event 2:
Jar B contains O dark chocolates
=> (0 chances

a) Two jars contain chocolates. b) Two jars contain chocolates.
A chocolate is chosen from each A chocolate is chosen from each
jar without looking. From which jar without looking. From which
jar does a white chocolate have a jar does a white chocolate have

greater chance of being chosen? no chance of being chosen?

c) Each wheel is spun once. On d) Each wheel is spun once. On
which wheel does the letter 'L’ which wheel does letter 7' have a
have a lesser chance of being greater chance of being spun?

O e A
JaRRn
IEZ2mNaEY

e) Two jars contain chocolates. f) Each wheel is spun once. On
A chocolate is chosen from each which wheel do the letters ‘X" and
jar without looking. From which '/’ have equal chance to be spun?

jé]hroize?] gork chocolate sure to be A) Aﬂ?ﬁ B) Aﬂ?ﬂ
by ek
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Skill 18.8 Listing all the possible outcomes of an event.

* List all the possibilities (outcomes), ignoring double-ups.

Q. List the four possible outcomes A. ABCD
when you spin this spinner.

‘/CB

a) Listthe two possible outcomes b) List the six possible outcomes
when you spin this spinner. when you roll a standard die.

e

pink, red
c) List the four possible outcomes d) List the five possible outcomes
when you spin this spinner. when you throw a dart and hit the

board.

- | =
> N
N

o | -

e) List the six possible outcomes f) List the four possible outcomes
when you spin this spinner. when you throw a dart and hit the
poard.
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Skill 18.9 Representing data from tables as bar graphs and
data from bar graphs as tables (1).

Representing tables as bar graphs Representing bar graphs as tables
* Check the value of the category. *  Check the length of the bar for a category.
* Find that category on the bar graph. * Find that category in the table.
* Draw a bar to the length of that value by e Fill in the table using the length of the
using the scale. bar.
Q. Use the table to complete the A oy
[¢5]
graph. 24
©
Chambers of the heart @ S 7 S S
animat Pgmberof] ammat Ppmieefl 20
human 4 shark 2 % 0
=
snake 3 frog 3 human shake shark frog
@ 4 The value of the ‘human’ category is 4.
[b]
O
£ 3 Above ‘human’ draw a bar to the
=
S 9 length of 4.
(@]
é 1 Repeat for all other categories
=20 - uman snake shark fog (‘snake’, ‘shark’ and ‘frog’).
a) Use the graph to complete the b) Use the graph to complete the
table. table.
_ The Simpson’s Hair! g Web searches
Bart 5 8
Lisa ) e
© 4|1 el
Maggie | 3, o
01 23 456 7 8 910 S o[ I [
Number of spikes in hair Addison Finn Rosey
Simpson Number of spikes Student Number
Bart () Addison
Lisa 8 Finn
Maggie 8 Rosey
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Skill 18.9 Representing data from tables as bar graphs and g

data from bar graphs as tables (2).

c) Use the table to complete the d)
graph. @
Chambers of the heart
Animal [Nmberof] animar [pber o
lizard 3 fish 2
horse 4 cow 4
§ 4
E 3
2 2
2
2 1
50
= lizard horse fish cow
e) Use the graph to complete the f)
table.
Earth features
Oceans |
Continents
Moons |
0 1 2 3 4 5 6 7 8
Number
Earth Feature Number
Oceans
Continents
Moons
g) Use the graph to complete the h)
table. - Film series
Toy Story
Harry Potter
Shrek
Transformers

0 1 2 3 4 5 6 7 8
Number of films

Film series Number of films

Toy Story

Harry Potter
Shrek

Transformers

Use the table to complete the
graph.

Length of School Summer Holidays

Country School holiday time
Romania 12 weeks
USA 6 weeks
New Zealand (NZ) 6 weeks
Romania
USA '
Nz

01 2 3 456 7 8 9 10 11 12
Time (weeks)

Use the table to complete the
graph.

Sculling boats

Type of sculling boat Number of oars
Single scull 2
Double scull 4
Quad scull 8
Single '
Double
Quad '

0 1 2 3 4 5 6 7 8 9
Number of oars

Use the graph to complete the
table. London

(average sunlight hours per day)

v f
Z =
4
M B
ol I PR P OB
January  April July  October
Average sunlight hours
Month & per da%r
January
April
July
October
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SKill 18.10 Describing the degree of likelihood of an event.

Hint: Think about the worst possible outcome.

Add 1 to the worst possible outcome.

The iPod is on shuffle mode. It has A.

50 songs, 40 of which Mae likes.
To how many songs does Mae
need to listen, to be certain she
hears a song she likes?

11

There are 40 songs Mae likes.

There are 10 songs Mae does not like.
The worst that can happen is that Mae
hears all 10 songs she does not like first|
So it could be the 11th song Mae listens
to that is the first of the ones she likes.
10+1=11

g)

A money bag contains

10 twenty-cent coins and

19 fifty-cent coins. A coin is
randomly selected. How many
coins do you have to choose to
make sure you have a

fifty-cent coin? 11

The (Pod is on shuffle mode. It has
30 songs, 25 of which Verve likes.
To how many songs does he need
to listen, to be certain he hears a
song he dislikes?

There are 12 pillow cases in our
linen cabinet. Four are pink.
Mum reaches inside the cabinet
(n the dark. How many pillow
cases does she need to take out
to make sure she has two
pink ones?

The (Pod is on shuffle mode. It has
25 songs, 5 of which Zac does not
like. To how many songs does

Zac need to listen, to be certain
he will hear a song he does not
like?

b)

d)

f)

Andrew has 7 one-dollar coins
and b two-dollar coins in his
pocket. He picks up a coin
without looking. How many coins
does Andrew have to pick to
make sure he has a
one-dollar coin?

A store has 20 batteries and 6 do
not work. How many batteries do
you have to check to make sure
you have a battery that works?

There are six pairs of runners in
the back of Mike’s closet.
Because the closet is dark, how
many individual runners must he
take out of the closet to make
sure he has a matching
pair of runners?

A store has 50 boxes of cereal.
There is a pedometer in 23 of
these boxes. How many boxes do
you have to buy to make sure you
have a box with a pedometer
inside?
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Skill 18.11

Interpreting pictographs with a scale.

Q. How many more woodwind than
pbrass instruments are in the ABC

Symphony Orchestra?

Instruments in the ABC Symphony Orchestra

S String |+ e Dl
S AR ER RN EEN
§ Woodwind fmetecf ==
< R R
Brass [ e
e
Percussion
0 5 10

15 20 25 30

A 6

Instruments in the ABC. Symphony Orchestra
SR T R T R

String 3

Instruments

Woodwind |<===

Brass

Percussion

0 5 101 15 \20 25 30
12 18
Each interval on the scale equals one
instrument.
There are 18 woodwind instruments.

There are 12 brass instruments.
18-12=6
a) Which space shuttle has spent closest  b) How many cars per 100 people are
to 1 year in space? there in Canada?
e word  ACCESSTO CARS
Europe &y | ‘ | ‘ ‘
USA. kg
Africa
New Zealand (&g -
0 5I0 160 1!I30 ZCIJO 2!I30 360 3!::0 460 Canada k& £,
*as of Feb 2011 *Days in space ‘ ! ‘ !
60 80 100
Number of cars per 100 people
c) How many Brownlow medals in total
have been won by Essendon and the d) How many of the years shown had
Sydney Swans? petween 600 and 700 birds hitting
AFL Brownlow medal winners high capacity aeroplanes.
| 1?24'?012 (‘t°p4‘°'“bs}) | Year Bird strikes on high capacity aeroplanes
R A e
CTIYIYIYIYIY YN | s * i
- QO9ee  md s
VIVIVIVIY! L |
West o =~ | 2005 | %
e O OOIOO N
L g a1 ] 2003 | W
Essendon@@@@gﬁ i i 20024” i P Hssszzssii
ndhdhdh 0 100 200 300 400 500 600 700 800 900
0 2 4 6 8 10 12 14 number of bird strikes
Number of Brownlows
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